
MATHS

BOOKS - CHETANA MATHS (MARATHI ENGLISH)

TRIGONOMETRY

Example

1. Find value .

Watch Video Solution

8sin 30∘ + 4cos 60∘

2. If 

Watch Video Solution

tan θ = 1, then tan(90 − θ) = ?

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_KEMYJ3odQyYN
https://dl.doubtnut.com/l/_7BPaPIMqs8k3


3. Fill in the blank : .

Watch Video Solution

sin 30° × cos………. . =
1

2

4. 

Watch Video Solution

sinA = , cosA = ?
1

2

5. If  is in 1st quadrant, , then .

Watch Video Solution

θ sin θ =
3

5
cos θ = ?

6. If  and  are complementary, then 

Watch Video Solution

sinP =
1

2
∠P and ∠R cosR = ?

7. If sin θ = , then cos θ = ?
√3

2

https://dl.doubtnut.com/l/_mMEhLXyhGH3X
https://dl.doubtnut.com/l/_5NEbhyx4cM0O
https://dl.doubtnut.com/l/_AMDvk38rWE4H
https://dl.doubtnut.com/l/_UJjk9b4bFay9
https://dl.doubtnut.com/l/_ekBxKWtKH35n


Watch Video Solution

8. =?

Watch Video Solution

sin2 50∘ + cos2 50∘

9. If , then 

Watch Video Solution

tan θ =
1

√3
tan(90 − θ) = ?

10. If , then 

Watch Video Solution

sin 30° × cos ecθ = 1 θ = ?

11. If , then find  if  is in 1st quadrant.

Watch Video Solution

sin θ =
5

13
cos θ θ

https://dl.doubtnut.com/l/_ekBxKWtKH35n
https://dl.doubtnut.com/l/_XLRKehabhQv8
https://dl.doubtnut.com/l/_cB65yKKFyh37
https://dl.doubtnut.com/l/_uBb2ARBdvi0W
https://dl.doubtnut.com/l/_55xd4W6GlnTc


12. Find the value of .

Watch Video Solution

sin2 30 + cos2 60 + tan2 45

13. In , ,  and . What are 

 in terms of sides of ?

Watch Video Solution

△ ABC ∠A = α ∠B = 90° ∠C = θ

tanα and cos θ △ ABC

14. , Find .

Watch Video Solution

tan30∘ × tan θ = 1 θ

15. Fill in the blank: 

Watch Video Solution

cos 45∘ = sin....

https://dl.doubtnut.com/l/_QchYA5DsVysB
https://dl.doubtnut.com/l/_AFzQ6N7e3pRt
https://dl.doubtnut.com/l/_1suWbj1NTOqa
https://dl.doubtnut.com/l/_FBEgsdlWwn2L


16. Find the value of .

Watch Video Solution

cos 60∘ × cos 30∘ + sin60∘ × sin30∘

17. In , ,  and . Then write the

ratio of  in terms of sides of .

Watch Video Solution

△ ABC ∠A = 50∘ ∠B = 90∘ ∠C = 40∘

tan50∘
△ ABC

18. In , ,  and . Then write the

ratio of  in terms of sides of .

Watch Video Solution

△ ABC ∠A = 50∘ ∠B = 90∘ ∠C = 40∘

cos 40∘
△ ABC

19. If  and  lies in 1st quadrant, then 

Watch Video Solution

sin θ =
15

17
θ cos θ = ?

https://dl.doubtnut.com/l/_pImnjOvJfRPd
https://dl.doubtnut.com/l/_bzuCHu2hYTTp
https://dl.doubtnut.com/l/_1xCrLwAZNKm3
https://dl.doubtnut.com/l/_98rzo1y59reP
https://dl.doubtnut.com/l/_K8V2RYCcvqjg


20. =?

Watch Video Solution

cos 62∘

sin 28∘

21. If  and  lies in 1st quadrant, then find 

Watch Video Solution

tan θ =
12

5
θ

5 sin θ − 12cos θ = ?

22. If  lies in 1st quadrant and , then find  and .

Watch Video Solution

θ cos θ =
24
25

sin θ tan θ

23. If  = 11/61 find the values of  using trigonometric identity.

Watch Video Solution

sin θ cos θ

https://dl.doubtnut.com/l/_K8V2RYCcvqjg
https://dl.doubtnut.com/l/_FIixzvwpPM1B
https://dl.doubtnut.com/l/_JlZ4LdNHz4L6
https://dl.doubtnut.com/l/_mV0vdXL4xPki


24. If  = 3/4 then find the value of .

Watch Video Solution

tan θ secθ and cos θ

25. If  = 7/25 then find .

Watch Video Solution

sin θ cos θ and tan θ

26. If  = 2 then find values of other trigonometric ratios.

Watch Video Solution

tan θ

27. If  = 40/9, find the value of  and sin theta`.

Watch Video Solution

cot θ cos esθ

28. If  = 13/12, find values of other trigonometric ratios.secθ

https://dl.doubtnut.com/l/_6JzkHa3TvjMP
https://dl.doubtnut.com/l/_YKBpoTZBeCom
https://dl.doubtnut.com/l/_sW4Dwnd525QQ
https://dl.doubtnut.com/l/_0mhA3vXX4Ljm
https://dl.doubtnut.com/l/_KQsJ8PheGigy


Watch Video Solution

29. If 5  - =0, find the values of .

Watch Video Solution

secθ 12 cos ecθ secθ, cos θ and sin θ

30. If  = 1 then find the vlue of 

Watch Video Solution

tan θ
sin θ + cos θ

secθ + cos ecθ

31. prove that: (i) 

Watch Video Solution

+ cos θ = secθ
sin2 θ

cos θ

32. prove that  = 1

Watch Video Solution

cos2 θ(1 + tan2 θ)

https://dl.doubtnut.com/l/_KQsJ8PheGigy
https://dl.doubtnut.com/l/_W2qr6xunEEKK
https://dl.doubtnut.com/l/_DjnNGQhUSgz5
https://dl.doubtnut.com/l/_tEkr4gKm0hHh
https://dl.doubtnut.com/l/_z00zs3yi391O


33. prove that  /  = 

Watch Video Solution

√(1 − sin θ) (1 + secθ)) secθ − tan θ

34. prove that   = 

Watch Video Solution

(secθ − cos θ) (cot θ + tan θ) tan θ. secθ

35. prove that  = 

Watch Video Solution

cot θ + tan θ cos ecθ. secθ

36. prove that  = 

Watch Video Solution

1

secθ − tan θ
secθ + tan θ

37. Prove that  = sin4 θ − cos4 θ 1 − 2cos2 θ

https://dl.doubtnut.com/l/_TThBSxfRa6W8
https://dl.doubtnut.com/l/_nKf0LMhjSzYa
https://dl.doubtnut.com/l/_PBIjXccE2l6D
https://dl.doubtnut.com/l/_0Pdvj3NmE2nq
https://dl.doubtnut.com/l/_YHG6vOpetAs3


Watch Video Solution

38. prove that  =  / (1-sin theta)`

Watch Video Solution

sin θ + tan θ (cos θ)

39. prove that If (1)/ (tan theta) tan^2 theta

+ 

Watch Video Solution

tan θ + = 2thenshowtp̂rove

1

tan2 θ

40. prove that =sinA cosA.

Watch Video Solution

+
tanA

(1 + tan2 A)
2

cotA

(1 + cot2 A)
2

41. prove that = 1.

Watch Video Solution

sec4 A(1 − sin4 A) − 2tan2 A

https://dl.doubtnut.com/l/_YHG6vOpetAs3
https://dl.doubtnut.com/l/_Ayc8MRf5ZG4D
https://dl.doubtnut.com/l/_ogydBj4bOf4N
https://dl.doubtnut.com/l/_t9luQR28u7DS
https://dl.doubtnut.com/l/_2MuW8XTOhY7G


42. prove that  = 

Watch Video Solution

tan θ

secθ − 1

tan θ + secθ + 1

tan θ + secθ − 1

43. Prove the following : (i)  ( ) (  ) = 1

Watch Video Solution

secθ 1 − sin θ secθ + tan θ

44. Prove the following : (  + tan theta 1-sin ) = 

Watch Video Solution

secθ )( θ cos θ

45. Prove the following :  = 

Watch Video Solution

sec2 θ + cos ec2θ sec2 θ × cos ecθ

https://dl.doubtnut.com/l/_2MuW8XTOhY7G
https://dl.doubtnut.com/l/_0uiogrW6gfjq
https://dl.doubtnut.com/l/_j6dxl5JkKOhX
https://dl.doubtnut.com/l/_Y3emMVidfaa4
https://dl.doubtnut.com/l/_HHbpwayXl3Je


46. Prove the following :  =

Watch Video Solution

cot2 θ − tan2 θ cos ec2θ − sec2 θ

47. Prove the following :  = 

Watch Video Solution

tan4 θ + tan2 θ sec4 θ − sec2 θ

48. (ii)  +(1)/ (1-sin theta) 2sec^2 theta`

Watch Video Solution

1

1 + sin θ
=

49. Prove the following :  = 

Watch Video Solution

sec6 x − tan6 x 1 + 3sec2 x × tan2 x

50. Prove the following :  = 
tan θ

secθ + 1

secθ − 1

tan θ

https://dl.doubtnut.com/l/_25yslJZAHuSU
https://dl.doubtnut.com/l/_6KLlsRCmGOa7
https://dl.doubtnut.com/l/_FTw5bi8VH3EZ
https://dl.doubtnut.com/l/_Uxe1Z9LQ9dD6
https://dl.doubtnut.com/l/_Rl0NfZDpOqAI


Watch Video Solution

51. Prove the following :  = 

Watch Video Solution

tan3 θ − 1

tan θ − 1
sec2 θ + tan θ

52. Prove the following : (1)/ (sec theta - tan theta)`

Watch Video Solution

=
sin θ − cos θ + 1

sin θ + cos θ − 1

53. A person is standing at a distance of 80 m from a church looking at its

top. The angle of elevation is of  . Find the height of the church.

Watch Video Solution

45∘

54. A boy standing at a distance of 48 meters from a building observes

the top of the building and makes an angle of elevation of  . Find the30∘

https://dl.doubtnut.com/l/_Rl0NfZDpOqAI
https://dl.doubtnut.com/l/_uNTR8qHOZgMa
https://dl.doubtnut.com/l/_LbNEyKn9FDEF
https://dl.doubtnut.com/l/_boueXiBKbBXv
https://dl.doubtnut.com/l/_FjcFrQA0IMhb


height of the building.

Watch Video Solution

55. From the top of a lighthouse, an observer looking at a ship makes an

angle of depression of . If the height of the lighthouse is 90 metre,

then find how far the ship is from the lighthouse. ( )

Watch Video Solution

60∘

√3 = 1, 73

56. From the top of a lighthouse, an observer looks at a ship and finds the

angle of depression to be . If the height of the lighthouse is 100 m,

then find how far is that ship from the lighthouse.

Watch Video Solution

30∘

57. Two buildings are facing each other on either side of a road of width

12m. From the top of the first building, which is 10 m high, the angle of

https://dl.doubtnut.com/l/_FjcFrQA0IMhb
https://dl.doubtnut.com/l/_22EV7BxwPVaH
https://dl.doubtnut.com/l/_ERBEq9GIfe8O
https://dl.doubtnut.com/l/_y4d7v2BB0dwI


elevation of the top of the second is . What is the height of the

second building?

Watch Video Solution

60∘

58. Two buildings are in front of each other on a road of width 15 meters.

From the top of the first building, having a height of 12 meters, the angle

of elevation of the top of the second building is . What is the height

of the second building?

Watch Video Solution

30∘

59. Two poles of heights 18 metre and 7 metere are erected on a ground.

The length of the wire fastened at their tops in 22 meters. Find the angle

made by the wire with the horizontal.

Watch Video Solution

https://dl.doubtnut.com/l/_y4d7v2BB0dwI
https://dl.doubtnut.com/l/_FvFz0YPOKfcI
https://dl.doubtnut.com/l/_GKIeUT9UKHEY


60. A storm broke a tree and the treetop rested 20 m from the base of

the tree, making an angle of  with the horizontal. Find the height of

the tree.

Watch Video Solution

60∘

61. A kite is flying at a height of 60 m above the ground. The string

attached to the kite is tied at the ground. It makes an angle of

sqrt3`= 1.73)

Watch Video Solution

60∘withtheground. As∑ ∈ gtŝtr ∈ gisstra ∈ ght, f ∈ dthe ≤ n > hof

62. Chose the correct alternative answer for the following question. (1)

. =…….

A. (A) 1

B. (B) 0

sin θ cos esθ

https://dl.doubtnut.com/l/_Jy2jhEgxTmuY
https://dl.doubtnut.com/l/_vuNnqvTmSn0E
https://dl.doubtnut.com/l/_6ypAVKuGxwjE


C. ( c) 1/2

D. (D) 

Answer:

Watch Video Solution

√2

63. (2)  = ?

A. (A) 

B. (B) 

C. ( c) /2

D. (d) 

Answer:

Watch Video Solution

cos ec45∘

1

√2

√2

√3

2

√3

https://dl.doubtnut.com/l/_6ypAVKuGxwjE
https://dl.doubtnut.com/l/_pUxA7r6FnEeF


64. (3)  =?

A. (A)

B. (B) 

C. ( C) 

D. (D) 

Answer:

Watch Video Solution

1 + tan2 θ

cot2 θ

cos esc2θ

sec2 θ

tan2 θ

65. What we see at a higher level from the horizontal line, angle formed is

…………..,

A. (A) Angle of Elevation

B. (B) Angle of Depression

C. ( C) 0

D. (D) Straight angle

https://dl.doubtnut.com/l/_zbLfJvd7GPJw
https://dl.doubtnut.com/l/_Zleryv7SkTvR


Answer:

Watch Video Solution

66. (5) If  = 4/5 and =3/5, then =

A. (A) 4/3

B. (B) 3/4

C. ( c) 12/25

D. (D) can not be calculated

Answer:

Watch Video Solution

sin θ cos θ tan θ

67. (6) If  = 61/60,  = 61/11, then  =……..

A. (A) 

cos ecθ secθ cot θ

612

660

https://dl.doubtnut.com/l/_Zleryv7SkTvR
https://dl.doubtnut.com/l/_x1cyG3NX7Qck
https://dl.doubtnut.com/l/_1tAOEhCjExbL


B. (B) 60/11

C. ( C) 11/60

D. (D) can not be calculated

Answer:

Watch Video Solution

68. (7) If = 24/25, then =…..

A. (A) /5

B. (B) 25/24

C. ( C) 25/7

D. (D) 7/25

Answer:

Watch Video Solution

sin θ cos θ

√24

https://dl.doubtnut.com/l/_1tAOEhCjExbL
https://dl.doubtnut.com/l/_nbGRAbLLNU3e
https://dl.doubtnut.com/l/_MdMPnvzcZwVD


69. (8) If =1, then =…….

A. (A) 1

B. (B) 

C. (C ) 2

D. (D) 0

Answer:

Watch Video Solution

tan θ secθ

√2

70. (9) If =3/4, then =…….

A. (A) 4/3

B. (B) 9/16

C. (C ) 16/9

D. (D) 5/4

cot θ tan2 θ

https://dl.doubtnut.com/l/_MdMPnvzcZwVD
https://dl.doubtnut.com/l/_ivORRYLlUuMG


Answer:

Watch Video Solution

71. (10) If = , then =……

A. (A) 

B. (B) 

C. ( C) 

D. (D) 

Answer:

Watch Video Solution

cos ecθ
2

√3
θ

0∘

45∘

30∘

60∘

72. In the adjoining figure, If  = ,  = , AC=12 m, then AB =…….a)

 b) 6  m c) 12m d) 6m

∠B 90∘ ∠C 30∘

12√3m √3

https://dl.doubtnut.com/l/_ivORRYLlUuMG
https://dl.doubtnut.com/l/_7ZBYVltYKjO7
https://dl.doubtnut.com/l/_4nidfya7UK7f


A. (A) 

B. (B) 6  m

C. ( C) 12m

D. (D) 6m

Answer:

Watch Video Solution

12√3m

√3

https://dl.doubtnut.com/l/_4nidfya7UK7f


73. (12) If ( ) ( ) =1/3, then =……

A. (A) 1/2

B. (B) 1//

C. ( c) //2

D. (D) //3

Answer:

Watch Video Solution

secθ − 1 secθ + 1 cos θ

√2

√3

sqet2

74. If  =a, and  =b, then ..... (A)  +  =1 (B)  - 

= 1 ( C)  +  =2 (D)  -  =2

A. (A)  +  =1

B. (B)  -  = 1

C. ( C) b^2 =2

D. (D)  -  =2

sin θ + cos θ sin θ − cos θ a2 b2 a2 b2

a2 b2 a2 b2

a2 b2

a2 b2

a2 +

a2 b2

https://dl.doubtnut.com/l/_eCai0Vpia41D
https://dl.doubtnut.com/l/_Azu417wDh6ca


Answer:

Watch Video Solution

75. (14) If  =1, then find =…….

A. (A) 0

B. (B) 1

C. (C ) 

D. (D) 

Answer:

Watch Video Solution

sin θ cot θ

√3

1

√3

76. (1) If =2, find the values of other trigonometric ratios using the

identities.

Watch Video Solution

tan θ

https://dl.doubtnut.com/l/_Azu417wDh6ca
https://dl.doubtnut.com/l/_oCHdAIIQW8jA
https://dl.doubtnut.com/l/_DoZRuvoz5gWr


77. (2) If =7/24, find the values of other trigonometric ratios using the

identity.

Watch Video Solution

cot θ

78. (3)  -  = 0, then find the values of all trigonometric ratios.

Watch Video Solution

3 sin θ 4 cos θ

79. If , find the value of , where .

Watch Video Solution

√3tan θ = 3sin θ sin θ2θ − cos2 θ θ ≠ 0

80. (5) Simplify :  ( ).

Watch Video Solution

sin θ cos ecθ − sin θ

https://dl.doubtnut.com/l/_DoZRuvoz5gWr
https://dl.doubtnut.com/l/_6bOVW0EpRzYH
https://dl.doubtnut.com/l/_HGw88nw0erjf
https://dl.doubtnut.com/l/_EZekJMdtXnye
https://dl.doubtnut.com/l/_9Hxy8XHjqrJg
https://dl.doubtnut.com/l/_7XjFFfC7cRtl


81. (6) prove : (i)  + (1)/ (1 + cot^2 theta)` = 1

Watch Video Solution

cos2 θ

82. Prove that :
(ii) 

Watch Video Solution

+ = 2sec2 θ
1

1 + sin θ

1

1 − sin θ

83. (iii) ( ) ( ) ( ) =1

Watch Video Solution

1 + tan2 θ 1 + sin θ 1 − sin θ

84. (iii) ( ) ( ) ( ) =1

Watch Video Solution

1 + tan2 θ 1 + sin θ 1 − sin θ

85. Prove: (v)  = -1cot2 θ −
1

sin2 θ

https://dl.doubtnut.com/l/_7XjFFfC7cRtl
https://dl.doubtnut.com/l/_ZT6LFan7I3ZZ
https://dl.doubtnut.com/l/_9yRFQBH6la5y
https://dl.doubtnut.com/l/_NgDwScF5Ph7U
https://dl.doubtnut.com/l/_1EskJjxPDmnU


Watch Video Solution

86. Prove that  = 

Watch Video Solution

sin4 θ − cos4 θ 1 − 2cos2 θ

87. Prove: (vii)  = 

Watch Video Solution

secθ + tan θ
1

secθ − tan θ

88. Prove that:  = 

Watch Video Solution

cos θ

1 + sin θ
secθ − tan θ

89. Prove the following :  = 

Watch Video Solution

tan3 θ − 1

tan θ − 1
sec2 θ + tan θ

https://dl.doubtnut.com/l/_1EskJjxPDmnU
https://dl.doubtnut.com/l/_SQ3RbfcKucQ0
https://dl.doubtnut.com/l/_GFhEFRcsMT7V
https://dl.doubtnut.com/l/_yrJAJSycNNfW
https://dl.doubtnut.com/l/_kkCy4R4Z92Mj
https://dl.doubtnut.com/l/_PMVIzOPPBR0y


90. Prove that: (x)  =  

Watch Video Solution

sin θ + tan θ

cos θ
tan θ (1 + secθ)

91. Prove that: (xi)  = 

Watch Video Solution

cos ec2A − cos2 A
sec2 A − sin2 A

tan2 A

92. (xii)  + (1)/(cot theta))times(sec theta - tan theta)` = 1

Watch Video Solution

(
1

cos θ

93. Prove that: (xiii) = 

Watch Video Solution

cos2 A + tan2 A − 1

sin2 A
tan2 A

94. Prove that: (xiv) = 
tanA + secA − 1

tanA − secA + 1

1 + sinA

cosA

https://dl.doubtnut.com/l/_PMVIzOPPBR0y
https://dl.doubtnut.com/l/_yBZKs1wzGUfL
https://dl.doubtnut.com/l/_gWofkjUZ7699
https://dl.doubtnut.com/l/_rAl69cm9EGPu
https://dl.doubtnut.com/l/_umQbDcUmwdJi


Watch Video Solution

95. (xv) / (sin theta - cos theta) 1 + sin

theta cos theta`

Watch Video Solution

(cos2 θ) (1 − tan θ) +
sin3 θ

=

96. A person is standing at a distance of 80 m from a church looking at its

top. The angle of elevation is of  . Find the height of the church.

Watch Video Solution

45∘

97. (8) From the top of a lighthouse, an observer looks at a ship and finds

the angle of depression to be . If the lighthouse is 90 m, then find

how far is that ship from the lighthouse? 

Watch Video Solution

60∘

(√3 = 1.73)

https://dl.doubtnut.com/l/_umQbDcUmwdJi
https://dl.doubtnut.com/l/_yOB3wtKr8NLk
https://dl.doubtnut.com/l/_S4fC4SHkbTgm
https://dl.doubtnut.com/l/_3HqSPEDKaboD
https://dl.doubtnut.com/l/_h9e5HPWvxHZl


98. (9) A building is 200  metres high. Find the angle of elevation if its

top is 200 m away from its foot.

Watch Video Solution

√3

99. (10) A straight road leads to the foot of a tower of height 50m. From

the top of the tower, the angle of depression of two cars standing on the

road are  and . What is the distance between the two cars?

Watch Video Solution

30∘ 60∘

100. (11) A ship of height 24m is sighted from a lighthouse. From the top

of the lighthouse, the angle of depression to the top of the mast and

base of the ship is  and  respectively. How far is the ship from the

lighthouse? 

Watch Video Solution

30∘ 45∘

(√3 = 1.73)

https://dl.doubtnut.com/l/_h9e5HPWvxHZl
https://dl.doubtnut.com/l/_8AkzuFNr3KFd
https://dl.doubtnut.com/l/_LG6KJwZXlOK9


101. (12) From a point on the roof of a house, 11m high, it is observed that

the angles of depression of the top and foot of a lamp ost are  and 

 respectively. What is the height of the lamp post?

Watch Video Solution

30∘

60∘

102. (A) Choose the correct alternative answer for the following: (1) . 

= …….

A. (A) 1

B. (B) 0

C. ( C) 1/2

D. (D) 

Answer:

Watch Video Solution

sin θ

cos ecθ

√2

https://dl.doubtnut.com/l/_Oh38HFcRiHO7
https://dl.doubtnut.com/l/_gtjVqdgkIdPU


103. (2) If  and  then 

A. (A) 4/3

B. (B) 3/4

C. ( c) 12/25

D. (D) can not be calculated

Answer:

Watch Video Solution

sin theat =
4
5

cos theat =
3

5
tan θ

104. Q.1. (B) solve the following: If / then find ,

Watch Video Solution

sin θ =
√3

2
θ

105. Find the value of .

Watch Video Solution

tan40∘ × tan50∘

https://dl.doubtnut.com/l/_mRLYKW5HGJhS
https://dl.doubtnut.com/l/_PXH2jYmhzQG0
https://dl.doubtnut.com/l/_zyVANAiPTqPx


106. perform any two of the following activities: If , then

complete the following activity to find .

Watch Video Solution

tan θ = 1

cos θ

107. A boy is at a distance of 60 m from a tree, makes an angle of

elevation of  with the top of the tree. What is the height of the tree?

Watch Video Solution

60∘

108. Prove that  + cos A = sec A.

Watch Video Solution

sin2 A

cosA

109. Solve the following: If x = r  and y = r , then prove 

W t h Vid S l ti

cos θ sin θ

x2 + y2 = r2

https://dl.doubtnut.com/l/_zyVANAiPTqPx
https://dl.doubtnut.com/l/_q9hR48rU7pA1
https://dl.doubtnut.com/l/_WNILeJpUPw4a
https://dl.doubtnut.com/l/_J31Y8pZ5zuQp
https://dl.doubtnut.com/l/_fezPNL8SaACL


Watch Video Solution

110. Using Pythagoras theorem, prove that 1 + ,

Watch Video Solution

cot2 theat = cos es2θ

111. Two poles of heights 18 metre and 7 metere are erected on a ground.

The length of the wire fastened at their tops in 22 meters. Find the angle

made by the wire with the horizontal.

Watch Video Solution

112. Prove that  = 

Watch Video Solution

(1 + )
1

tan2 A
(1 + )

1

cot2 A

1

sin2 A − sin4 A

113. In a right angled   and  = 

 and . Find the perimeter of .

ΔABC, ∠A = 90∘ 5 sin2 B + 7cos2 C + 4

3 + 8tan2 60∘

7
27

AC = 3 ΔABC

https://dl.doubtnut.com/l/_fezPNL8SaACL
https://dl.doubtnut.com/l/_v182JAhcc3BR
https://dl.doubtnut.com/l/_QpekURtcq038
https://dl.doubtnut.com/l/_S6k9G3iR5eBm
https://dl.doubtnut.com/l/_KnwDYvaN4BvK


Watch Video Solution

114. Prove :  +  + 

Watch Video Solution

cos2 θ

1 − tan θ
= 1

sin3 θ

sin θ − cos θ
sin θ cos θ

115. If  = , prove that 

Watch Video Solution

√1 + x2 sin θ x tan2 θ + cot2 θ = x2 +
1

x2

116. Prove :  + = 1 + 

Watch Video Solution

tan θ

1 − cot θ

cot θ

1 − tan θ
tan θ + cot θ

117. prove : =  

Watch Video Solution

sin8θ − cos8θ (sin2 θ − cos2 θ) (1 − 2sin2 θ cos2 θ)

https://dl.doubtnut.com/l/_KnwDYvaN4BvK
https://dl.doubtnut.com/l/_vJT58yt0txiJ
https://dl.doubtnut.com/l/_JOwxV5AcyEtu
https://dl.doubtnut.com/l/_hroCs4HNYBiy
https://dl.doubtnut.com/l/_CYPql7eXyfSR


118. A 1.5 m tall boy is standing at some distance from a 30 m tall building.

The angle of elevation from his syes to the top of the building increases

from his eyes to the top of the building increases from  to  as he

walks towards the building. Find the distance he walked towards the

building.

Watch Video Solution

30∘ 60∘

119. Prove :

Watch Video Solution

(sinA + cos ecA)2 + (cosA + secA)2 = 7 + (tan2 A + cot2 A)

120. Prove that : 

Watch Video Solution

× = sin θ
1 − sin θ cos θ

cos θ(secθ − cos ecθ)

sin2 θ − cos2 θ

sin3 θ + cos3 θ

https://dl.doubtnut.com/l/_uNV3gH1TAShT
https://dl.doubtnut.com/l/_Hj0lUxRvFe65
https://dl.doubtnut.com/l/_btWLl13maNQn


121. Prove that 

Watch Video Solution

+ = 2cos ecA
tanA

secA − 1

tanA

secA + 1

122. From the top of a light house, 80 metres high, two ships on the same

side of light house are observed. The angles of depression of the ships as

seen from the light house are found to be of  and . Find the

distance between the two ships. (Assume that the two ships and the

bottom of the lighthouse are in a line)

Watch Video Solution

45∘ 30∘

123. If a  = m and a  = n, then prove that 

Watch Video Solution

cos theat + b sin θ sin θ − b cos θ

a2 + b2 = m2 + n2

https://dl.doubtnut.com/l/_CMy1QXfYAh5G
https://dl.doubtnut.com/l/_nPnOMU9ckgjB
https://dl.doubtnut.com/l/_VVUKZJY696SG


124. If , find the value of , where .

Watch Video Solution

√3tan θ = 3sin θ sin θ2θ − cos2 θ θ ≠ 0

125. Prove that :   = 

Watch Video Solution

(1 + )
1

tan2 A
(1 + )

1

cot2 A

1

sin2 A − sin4 A

https://dl.doubtnut.com/l/_z9TvLYW0JKvx
https://dl.doubtnut.com/l/_jz81XgoInZnw

